

On the oscillation of certain integral equations

By JOHN R. GRAEF (Chattanooga), SAID R. GRACE (Giza) and ERCAN TUNÇ (Tokat)

Abstract. The authors present conditions under which every nonoscillatory solution x of the integral equation

$$x(t) = e(t) - \int_c^t (t-s)^{\alpha-1} k(t,s)f(s,x(s))ds, \quad c > 1, \quad 0 < \alpha \leq 1,$$

satisfies

$$|x(t)| = O(t) \quad \text{as } t \rightarrow \infty, \quad \text{i.e., } \limsup_{t \rightarrow \infty} \frac{|x(t)|}{t} < \infty.$$

They also establish some sufficient conditions to ensure the oscillation of all solutions of this equation. The results obtained extend previous results in the literature, and the technique employed can be applied to some related integral equations that are equivalent to certain fractional differential equations.

1. Introduction

Consider the nonlinear integral equation

$$x(t) = e(t) - \int_c^t (t-s)^{\alpha-1} k(t,s)f(s,x(s))ds, \quad c > 1, \quad 0 < \alpha \leq 1, \quad (1.1)$$

where we assume that:

- (i) $e : [c, \infty) \rightarrow R$ is a continuous function;

Mathematics Subject Classification: 34E10, 34A34.

Key words and phrases: asymptotic behavior, oscillation, nonoscillatory solution, integral equations.

- (ii) $k : [c, \infty) \times [c, \infty) \rightarrow R$ is continuous, and there exists a continuous function $a : [c, \infty) \rightarrow (0, \infty)$ such that

$$|k(t, s)| \leq a(t) \quad \text{for all } t \geq s \geq c;$$

- (iii) $f : [c, \infty) \times R \rightarrow R$ is a continuous function, and there exists a continuous function $h : [c, \infty) \rightarrow (0, \infty)$, and numbers λ and γ with $0 < \lambda < 1$ such that

$$0 \leq xf(t, x) \leq t^{\gamma-1}h(t)|x|^{\lambda+1} \quad \text{for } x \neq 0 \quad \text{and } t \geq c.$$

We only consider those solutions of equation (1.1) that are continuable and nontrivial in any neighborhood of ∞ . Such a solution is said to be *oscillatory* if there exists $\{t_n\} \subseteq [c, \infty)$ with $t_n \rightarrow \infty$ as $n \rightarrow \infty$ such that $x(t_n) = 0$, and it is *nonoscillatory* otherwise.

Integral and fractional differential equations have gained considerably more attention in the last several years due to their applications in many areas in engineering and the sciences, such as in modeling systems and processes in physics, mechanics, chemistry, aerodynamics, and the electrodynamics of complex media. For more details, we refer the reader to the monographs of PODLUBNY [8] and PRUDNIKOV *et al.* [9].

Oscillation and asymptotic behavior results for integral, as well as, integro-differential equations and fractional differential equations are not very prevalent in the literature; some results can be found in BOHNER *et al.* [1] and GRACE *et al.* [3], [4], [5], [6]. There do not appear to be any such results for integral equations of type (1.1). The main objective of this paper is to establish some new criteria for the oscillation and asymptotic behavior of solutions of (1.1).

2. Main results

To obtain our results in this paper, we need the following two lemmas.

Lemma 2.1 ([9]). *Let α , γ , and p be positive constants such that*

$$p(\alpha - 1) + 1 > 0 \quad \text{and} \quad p(\gamma - 1) + 1 > 0.$$

Then

$$\int_0^t (t-s)^{p(\alpha-1)} s^{p(\gamma-1)} ds = t^\theta B, \quad t \geq 0,$$

where $B := B[p(\gamma-1)+1, p(\alpha-1)+1]$, $B[\xi, \eta] = \int_0^1 s^{\xi-1} (1-s)^{\eta-1} ds$, ($\xi > 0$, $\eta > 0$) and $\theta = p(\alpha + \gamma - 2) + 1$.

Lemma 2.2 ([7]). *If X and Y are nonnegative and $0 < \lambda < 1$, then*

$$X^\lambda - (1 - \lambda)Y^\lambda - \lambda XY^{\lambda-1} \leq 0, \tag{2.1}$$

where equality holds if and only if $X = Y$.

In what follows, for any $t_1 \geq c$ and continuous function $w : [c, \infty) \rightarrow (0, \infty)$, we let

$$g(t; t_1, w) = e(t) + \left((1 - \lambda)\lambda^{\lambda/(1-\lambda)} \right) a(t) \times \int_{t_1}^t (t - s)^{\alpha-1} \left(s^{\gamma-1} w^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds, \tag{2.2}$$

for $t \geq t_1$.

In our first theorem, we give sufficient conditions for any nonoscillatory solution x of equation (1.1) to satisfy $|x(t)| = O(t)$ as $t \rightarrow \infty$.

Theorem 2.1. *In addition to (i)–(iii), assume that the following conditions hold:*

(H₁) *There exists $p > 1$ such that*

$$p(\alpha - 1) + 1 > 0 \quad \text{and} \quad p(\gamma - 1) + 1 > 0;$$

(H₂) *Let $\theta = p(\alpha + \gamma - 2) + 1$, set*

$$m(t) = \begin{cases} t^{\theta/p} a(t), & \text{if } \theta \geq 0, \\ a(t), & \text{if } \theta < 0, \end{cases}$$

and assume that $m(t)$ is bounded on $[c, \infty)$;

(H₃) *Let $b : [c, \infty) \rightarrow (0, \infty)$ be continuous, $q = \frac{p}{p-1}$, and assume that*

$$\begin{cases} \int_c^\infty b^q(s) ds < \infty, & \text{if } \theta \geq 0, \\ \int_c^\infty s^{\theta q/p} b^q(s) ds < \infty, & \text{if } \theta < 0; \end{cases} \tag{2.3}$$

(H₄) $\frac{|g(t; c, b)|}{t}$ *is bounded on $[c, \infty)$.*

If $x(t)$ is a nonoscillatory solution of equation (1.1), then

$$\limsup_{t \rightarrow \infty} \frac{|x(t)|}{t} < \infty. \tag{2.4}$$

PROOF. Let $x(t)$ be an eventually positive solution of equation (1.1), say $x(t) > 0$ for $t \geq t_1$ for some $t_1 \geq c$. Let $F(t) = f(t, x(t))$. In view of (i)–(iii), from equation (1.1) we have

$$\begin{aligned} x(t) &\leq e(t) + a(t) \int_c^t (t-s)^{\alpha-1} |f(s, x(s))| ds \leq e(t) + a(t) \int_c^{t_1} (t-s)^{\alpha-1} |F(s)| ds \\ &\quad + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} [h(s)x^\lambda(s) - b(s)x(s)] ds \\ &\quad + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s)x(s) ds. \end{aligned} \quad (2.5)$$

Letting

$$X = (h(s))^{1/\lambda} x(s) \quad \text{and} \quad Y = \left(\frac{1}{\lambda} b(s) (h^{-1/\lambda}(s)) \right)^{1/(\lambda-1)}$$

in Lemma 2.2, we see that

$$h(s)x^\lambda(s) - b(s)x(s) \leq (1-\lambda)\lambda^{\lambda/(1-\lambda)} b^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s).$$

So from (2.5), we obtain

$$\begin{aligned} x(t) &\leq e(t) + a(t) \int_c^{t_1} (t-s)^{\alpha-1} |F(s)| ds \\ &\quad + \left((1-\lambda)\lambda^{\lambda/(1-\lambda)} \right) a(t) \int_{t_1}^t (t-s)^{\alpha-1} \left[s^{\gamma-1} b^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right] ds \\ &\quad + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s)x(s) ds. \end{aligned} \quad (2.6)$$

Using the fact that $(t-s)^{\alpha-1} \leq (t_1-s)^{\alpha-1}$, (2.6) yields

$$\begin{aligned} x(t) &\leq a(t) \int_c^{t_1} (t_1-s)^{\alpha-1} |F(s)| ds \\ &\quad + |g(t; t_1, b)| + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s)x(s) ds. \end{aligned} \quad (2.7)$$

Thus, in view of conditions (H₂) and (H₄),

$$\begin{aligned} \frac{x(t)}{t} := z(t) &\leq C + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s) z(s) ds, \\ &\leq 1 + C + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s) z(s) ds, \end{aligned} \quad (2.8)$$

for some positive constant C . Applying Hölder's inequality and Lemma 2.1, we obtain

$$\begin{aligned} \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s) z(s) ds &\leq \left(\int_{t_1}^t (t-s)^{p(\alpha-1)} s^{p(\gamma-1)} ds \right)^{1/p} \left(\int_{t_1}^t b^q(s) z^q(s) ds \right)^{1/q} \\ &\leq \left(\int_0^t (t-s)^{p(\alpha-1)} s^{p(\gamma-1)} ds \right)^{1/p} \left(\int_{t_1}^t b^q(s) z^q(s) ds \right)^{1/q} \\ &\leq (Bt^\theta)^{1/p} \left(\int_{t_1}^t b^q(s) z^q(s) ds \right)^{1/q}, \end{aligned}$$

where $B := B[p(\gamma-1)+1, p(\alpha-1)+1]$ and $\theta = p(\alpha+\gamma-2)+1$. Hence,

$$a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s) z(s) ds \leq B^{1/p} t^{\theta/p} a(t) \left(\int_{t_1}^t b^q(s) z^q(s) ds \right)^{1/q}.$$

Clearly,

$$a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s) z(s) ds \leq \begin{cases} B^{1/p} B_1 \left(\int_{t_1}^t b^q(s) z^q(s) ds \right)^{1/q}, & \text{if } \theta \geq 0, \\ B^{1/p} B_1^* \left(\int_{t_1}^t s^{\theta q/p} b^q(s) z^q(s) ds \right)^{1/q}, & \text{if } \theta < 0, \end{cases}$$

where B_1 and B_1^* are upper bounds for $t^{\theta/p} a(t)$ and $a(t)$, respectively. Using this inequality and the fact that

$$(x+y)^q \leq 2^{q-1}(x^q + y^q) \quad \text{for } x, y \geq 0 \quad \text{and } q > 1,$$

(2.8) implies

$$z^q(t) \leq \begin{cases} 2^{q-1} \left((1+C)^q + (B_1 B^{1/p})^q \int_{t_1}^t b^q(s) z^q(s) ds \right), & \text{if } \theta \geq 0, \\ 2^{q-1} \left((1+C)^q + (B_1^* B^{1/p})^q \int_{t_1}^t s^{\theta q/p} b^q(s) z^q(s) ds \right), & \text{if } \theta < 0. \end{cases} \quad (2.9)$$

If we set $u(t) = z^q(t)$, $P_1 = 2^{q-1}(1+C)^q$, and

$$Q_1(t) = \begin{cases} 2^{q-1}(B_1 B^{1/p})^q, & \text{if } \theta \geq 0, \\ 2^{q-1}(B_1^* B^{1/p})^q, & \text{if } \theta < 0, \end{cases}$$

then $z(t) = u^{1/q}(t)$ and

$$u(t) \leq \begin{cases} P_1 + Q_1 \int_{t_1}^t b^q(s) u(s) ds, & \text{if } \theta \geq 0, \\ P_1 + Q_1 \int_{t_1}^t s^{\theta q/p} b^q(s) u(s) ds, & \text{if } \theta < 0, \end{cases} \quad (2.10)$$

for $t \geq t_1$. By Gronwall's inequality and condition (2.3), we see that $u(t)$ is bounded, and so

$$\limsup_{t \rightarrow \infty} \frac{x(t)}{t} < \infty.$$

A similar proof holds if $x(t)$ is an eventually negative solution of the equation. This completes the proof of the theorem. \square

The following example illustrates the above theorem.

Example 2.1. Consider the equation

$$x(t) = t \sin t - \int_c^t (t-s)^{-\frac{1}{2p}} \left[\frac{ts^{-\frac{1}{2p}}}{t^2+1} \right] h(s) s^{-\frac{1}{2p}} |x(s)|^{\lambda-1} x(s) ds \quad (2.11)$$

with $c > 1$, $p > 1$, and $0 < \lambda < 1$. Here we have $k(t, s) = \frac{t}{t^2+1} s^{-\frac{1}{2p}}$, $a(t) = \frac{1}{t}$, $q = \frac{p}{p-1}$, $\alpha = 1 - \frac{1}{2p} = \gamma$, $p(\alpha - 1) + 1 = \frac{1}{2} = p(\gamma - 1) + 1$ and $\theta = p(1 - \frac{1}{2p} + 1 - \frac{1}{2p} - 2) + 1 = 0$. Note that $m(t) = a(t)$. We take $b(t) = h(t)$, and assume that

$$\int_c^\infty h^q(s) ds < \infty \quad \text{and} \quad \limsup_{t \rightarrow \infty} \frac{1}{t^2} \left(\int_c^t (t-s)^{-\frac{1}{2p}} s^{-\frac{1}{2p}} h(s) ds \right) < \infty.$$

Then all conditions of Theorem 2.1 are satisfied, so every nonoscillatory solution x of equation (2.11) satisfies

$$\limsup_{t \rightarrow \infty} \frac{x(t)}{t} < \infty.$$

Next, we establish an oscillation result for equation (1.1).

Theorem 2.2. *In addition to conditions (i)–(iii), (H₁)–(H₂) and (H₄), assume that*

$$\left\{ \begin{array}{l} \int_c^\infty s^q b^q(s) ds < \infty, \quad \text{if } \theta \geq 0, \\ \int_c^\infty s^{\theta q/p} s^q b^q(s) ds < \infty, \quad \text{if } \theta < 0. \end{array} \right. \quad (2.12)$$

If

$$\liminf_{t \rightarrow \infty} g(t; c, b) = -\infty \quad \text{and} \quad \limsup_{t \rightarrow \infty} g(t; c, b) = \infty, \quad (2.13)$$

then all solutions of equation (1.1) are oscillatory.

PROOF. Since condition (2.12) implies (H₃), the conclusion of Theorem 2.1 holds. Without any loss of generality, assume that $t_1 \geq c$ is sufficiently large so that $x(t) > 0$ for $t \geq t_1$. From equation (1.1), we have

$$\begin{aligned} x(t) &= e(t) - \int_c^{t_1} (t-s)^{\alpha-1} k(t,s) f(s, x(s)) ds - \int_{t_1}^t (t-s)^{\alpha-1} k(t,s) f(s, x(s)) ds \\ &\leq e(t) - \int_c^{t_1} (t-s)^{\alpha-1} k(t,s) f(s, x(s)) ds + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} h(s) x^\lambda(s) ds. \end{aligned}$$

Proceeding as in the proof of Theorem 2.1, we obtain (see (2.6))

$$\begin{aligned} x(t) &\leq e(t) + a(t) \int_c^{t_1} (t-s)^{\alpha-1} |F(s)| ds \\ &\quad + \left((1-\lambda) \lambda^{\lambda/(1-\lambda)} \right) a(t) \int_{t_1}^t (t-s)^{\alpha-1} \left[s^{\gamma-1} b^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right] ds \\ &\quad + a(t) \int_{t_1}^t (t-s)^{\alpha-1} s^{\gamma-1} b(s) s \left(\frac{x(s)}{s} \right) ds. \end{aligned} \quad (2.14)$$

Applying Hölder’s inequality and Lemma 2.1 gives

$$\begin{aligned}
 x(t) \leq & g(t; t_1, b) + a(t) \int_c^{t_1} (t_1 - s)^{\alpha-1} |F(s)| ds + \\
 & + \begin{cases} B^{1/p} B_1 \left(\int_{t_1}^t s^q b^q(s) \left(\frac{x(s)}{s} \right)^q ds \right)^{1/q}, & \text{if } \theta \geq 0, \\ B^{1/p} B_1^* \left(\int_{t_1}^t s^{\theta q/p} s^q b^q(s) \left(\frac{x(s)}{s} \right)^q ds \right)^{1/q}, & \text{if } \theta < 0. \end{cases} \tag{2.15}
 \end{aligned}$$

Now, by Theorem 2.1, $(x(t)/t)$ is bounded, so from condition (2.12), the last two integrals on the right hand side of (2.15) are finite. Taking the \liminf of both sides of this inequality as $t \rightarrow \infty$, in view of condition (2.13), we obtain a contradiction to the fact that $x(t)$ is eventually positive. The proof, if x is eventually negative, is similar. \square

The following corollary is an immediate consequence of the above theorem.

Corollary 2.1. *Let condition (2.13) in Theorem 2.2 be replaced by*

$$\lim_{t \rightarrow \infty} a(t) \int_c^t (t - s)^{\alpha-1} \left(s^{\gamma-1} b^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds < \infty, \tag{2.16}$$

and

$$\liminf_{t \rightarrow \infty} e(t) = -\infty \quad \text{and} \quad \limsup_{t \rightarrow \infty} e(t) = \infty.$$

Then all solutions of equation (1.1) are oscillatory.

We conclude this paper with the following example.

Example 2.2. Consider the equation

$$x(t) = t \cos t - \int_2^t (t - s)^{-\frac{1}{4}} \left[\frac{e^t}{st^2(e^t + 1)} \right] s^{-\frac{1}{3}} x^{\frac{1}{3}}(s) ds. \tag{2.17}$$

Here we have $p = 2$, $\lambda = 1/3$, $k(t, s) = \frac{e^t}{st^2(e^t+1)}$, $a(t) = 1/t^2$, $f(t, x) = t^{-\frac{1}{3}} x^{\frac{1}{3}}$, $h(t) = 1$, $q = 2$, $\alpha = \frac{3}{4} = \gamma$ and $\theta = 0$. If we take $b(t) = t^{-2}$, then

$$\int_2^\infty s^2 b^q(s) ds = \int_2^\infty s^{-2} ds < \infty,$$

and (2.16) becomes

$$\lim_{t \rightarrow \infty} \frac{1}{t^2} \int_2^t (t-s)^{-\frac{1}{4}} s^{\frac{3}{4}} ds \leq \lim_{t \rightarrow \infty} \frac{1}{t^{\frac{5}{4}}} \int_2^t (t-s)^{-\frac{1}{4}} ds < \infty.$$

We see that the hypotheses of Corollary 2.1 are satisfied, and so all solutions of equation (1.1) are oscillatory.

3. Concluding remarks

To see that the approach and results obtained here can be applied to fractional differential equations, consider the initial value problem for fractional differential equations of the form

$$\begin{cases} D_c^\alpha x = f(t, x), \\ \lim_{t \rightarrow c^+} I_c^{1-\alpha} x(t) = x_0, \end{cases} \quad (3.1)$$

where D_c^α is the differential operator of order α , $0 < \alpha \leq 1$, and I_c^β is the Riemann–Liouville fractional integral operator given by

$$I_c^\beta x(t) = \frac{1}{\Gamma(\beta)} \int_c^t (t-s)^{\beta-1} x(s) ds.$$

It is known that this fractional initial value problem is equivalent to the integral equation

$$x(t) = \frac{x_0(t-c)^{\alpha-1}}{\Gamma(\alpha)} + \frac{1}{\Gamma(\alpha)} \int_c^t (t-s)^{\alpha-1} f(s, x(s)) ds. \quad (3.2)$$

Clearly, (3.2) has the form of our equation (1.1). Similar remarks can be made for fractional initial value problems involving the Caputo derivative.

It should also be clear that it would be possible to obtain similar results for equations with $n-1 < \alpha \leq n$.

Finally, it would be of interest to obtain results analogous to those in this paper even in the case where $\lambda > 1$ in condition (iii).

ACKNOWLEDGEMENTS. The authors would like to thank the referee for a very careful reading of the paper, and making several suggestions for improving the presentation of the results.

References

- [1] M. BOHNER, S. R. GRACE and N. SULTANA, Asymptotic behavior of nonoscillatory solutions of higher-order integro dynamic-equations, *Opuscula Math.* **34** (2014), 5–14.
- [2] K. M. FURATI and N.-E. TATAR, Power-type estimates for a nonlinear fractional differential equation, *Nonlinear Anal.* **62** (2005), 1025–1036.
- [3] S. R. GRACE and A. ZAFER, Oscillatory behavior of integro-dynamic and integral equations on time scales, *Appl. Math. Lett.* **28** (2014), 47–52.
- [4] S. R. GRACE, J. R. GRAEF and A. ZAFER, Oscillation of integro-dynamic equations on time scales, *Appl. Math. Lett.* **26** (2013), 383–386.
- [5] S. R. GRACE, J. R. GRAEF, S. PANIGRAHI and E. TUNÇ, On the oscillatory behavior of Volterra integral equations on time-scales, *PanAmer. Math. J.* **23** (2013), 35–41.
- [6] S. R. GRACE, R. P. AGARWAL, P. J. Y WONG and A. ZAFER, On the oscillation of fractional differential equations, *Fract. Calc. Appl. Anal.* **15** (2012), 222–231.
- [7] G. H. HARDY, J. E. LITTLEWOOD and G. POLYA, Inequalities, Reprint of the 1952 edition, *Cambridge University Press, Cambridge*, 1988.
- [8] I. PODLUBNY, Fractional Differential Equations, *Academic Press, San Diego*.
- [9] A. P. PRUDNIKOV, ZU. A. BRYCHKOV and O. I. MARICHEV, Integrals and Series: Elementary Functions, Vol. **1**, *Nauka, Moscow*, 1981 (in *Russian*).

JOHN R. GRAEF
 DEPARTMENT OF MATHEMATICS
 UNIVERSITY OF TENNESSEE
 AT CHATTANOOGA
 CHATTANOOGA, TN 37403
 USA

E-mail: John-Graef@utc.edu

SAID R. GRACE
 DEPARTMENT OF ENGINEERING MATHEMATICS
 FACULTY OF ENGINEERING
 CAIRO UNIVERSITY
 ORMAN, GIZA 12221
 EGYPT

E-mail: saidgrace@yahoo.com

ERCAN TUNÇ
 DEPARTMENT OF MATHEMATICS
 FACULTY OF ARTS AND SCIENCES
 GAZIOSMANPASA UNIVERSITY
 60240, TOKAT
 TURKEY

E-mail: ercantunc72@yahoo.com

(Received December 15, 2015; revised May 26, 2016)